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3. B2 enough...to HYFHE
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U2 The Movie Looks Exciting.
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1. for me /too hot / the coffee / 1s / to drink

2. 1isn’t/ the little boy / tall / to pick the apples / enough
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1. The box is too heavy for me to carry. (E{ i, so...that)

2. The homework was so difficult that we didn’t finish it.

(BZRK too...to)

3.The boy is so tall that he can reach the apples in the tree.
(£% 5% enough to )

4.The jacket is big enough for the boy to wear. (Ffi¥, so...that)

5.Those math exercises bore the students.
(DL Ry-ed)
(I Fy-ing)
6.The story interests me.
(DL Ry-ed)
(I Ry-ing)







